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[Tij (t )]a [’7ij (¢ )]ﬁ

pit)=—
2 [Tia (t)]a [77ia (t)]ﬂ
k=1
o Y,
LNB 7]U = C—l]
[ 0.2450 0.2192 0.2144 0.2124 0.2096 0.2089 0 0
0.2407 0.2261 0.2064 0.1866 0.1852 0.1835 0.1814 0.1806
0.1382 0.1375 0.1349 0.1289 0.1271 0 0 0
0.1221 0.1146 0.1131 0.1119 0.1047 0.1041 0.1010 0
2.7998 23011 2.2327 2.0221 1.9491 0 0 0
1.3485 1.3274 0.1131 1.2809 0 0 0 0
6.2786 6.0163 4.5484 3.4057 0 0 0 0
n; = 9.9570 6.6593  6.2494 0 0 0 0 0
4.0633 37117  3.1451 2.8527 0 0 0 0
7.1307 5.2625 4.9999 0 0 0 0 0
4.9850 4.1621  4.0000 0 0 0 0 0
24.77850 19.9980 18.8660 0 0 0 0 0
5.3011 44257 3.9227 0 0 0 0 0
4.1959 3.1939 2.6436 2.5514 0 0 0 0
| 09157 0.8811 0.8837 0.7028 0 0 0 0
(7.6)
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% % A % dl dl a é’ ] .i’ 1 o
1A 1 ANAZABUADNAAMIIMNITANN T lUN1TNERTUAULszNaU (15 Tudau) WATHAYNAY
AZABININIZUIUNNTE AINUUMIAIIANFUNULAZ AN NI NANAR H 89T A AT ABLT
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TUAIUFADIAINIIANLUTENIUANIUUA 29 $ AGTUANANNERINHANARTINT IFURINA LA

azfnazls

[0.8829 ]
0.8780
0.8780
0.9067
0.8744
F(Y)= (7.9)
0.8744
0.9070
0.9063
0.8868

| 0.8809 |

UAZIIANSUUIINFBIAININANANNERIHANRR IETINUUA 29 $ TTuAS

[ 28.9951 |
28.9438
28.9120
28.9627
F(C)= 28.8966 710
28.9757
28.9840
28.9615
28.9948

28.9963

patiuaz s

Y, = Y(7)=0.9070 dsflsmdunusn C(x)= C(7)=28.9840
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For k = (i+1) to n
4 e de o X
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End
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0 0 40 20 20 20 0 0
0 0 100 0 0 0 0 0
0 68 32 0 0 0 00
0 0 68 32 0 0 00
40 15 15 15 15 0 0 0
0 25 50 25 0 0 0 0
45 23 18 14 0 0 0 0
pit)={60 20 20 0 0 0 0 0
23 43 17 17 0 0 0 0
58 2121 0 0 0 0 0
26 50 24 0 0 0 0 0
2949 22 0 0 0 0 0
56 22 22 0 0 0 0 0
26 21 37 16 0 0 0 0
50 25 25 0 0 0 0 0]

Aunaun 5 uualidauausenlunisdum NC = NC +1 isequanauing
uagadald uazmidnsniniinzesillslun Az, =0 ienidAANnaziduresdn
winnzaunaliReulaninuue

Aumaaun 6 nanutnaziulunsasnvesniaziduntalaeldannisi (2.1)

aupaun 7 Wuaynsaessiumimanauniulaingldaouiiaziiulunig
A 13 A ¥ A 1% Z// ° ' o‘ol/ ! o
wonidunsiliainannisi (2.1) wianvisAuaiAiaidupnumnnzanaausazARaL

Sk _best (NC)

I
o

A o nﬂld 1 I8 dd‘ 3| o -e:lld-e:ll
wazanAIRaLNN AT AdUANNmNIzaNANge HuAnaLNANgR
YUABUN 8 APINABLIN 0 f (5 posy (NO)< £ (S o (NC = 1)) D 1UALA

Spest (NC) = 51 (NC) Elalifluazalsd NL = NL+1 iemsanewin NL<NL, &

1
a

Tadifluasaliadepmanluy (Re-initialization) gl NL A8 [a1uiuasan leANaauLaud
TldAmsnzand duduase il dedunaun 9

& a P o = A o o o a

Aupaun 9 ArmaasuReulanisugs drludsReulanisugaliingdunaun 2
aaal Qdd‘ o Y o [ a v d‘ a a ragll
HRsnanensnazgninun ldimuaaniazlunisuganiiunisdumn aeludnadnusi ay
o .dl v -dl v 1 ‘5
Amuaiaulanisuganisdumnainaniaylaaniagniledeansil

- ArUANNANULA 1 1 1N 19 A0
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v
o [ %

| A R [y ) ! . = |
- ﬁ’WlWV]ZEWV]V’]i@ ULNTINUANLNNIZAN (Optlmum) Iuﬂﬁ‘MVIVI?WUﬂWLVN’]z’&N
(Optimum) WA

o 9;/ o tﬂl % o A 4 dl ndl ] z ] A
AN ﬁ'?[ﬁl’ﬂ‘].l‘i’liﬂ@’?ﬂﬂ’]ﬁ‘ﬂﬂl)@@ﬂ@ﬂ’mLMN’W&‘?’&N‘VI’Q@?J@\?LLﬁlﬂtﬂuﬂquﬂizﬂ’ﬂU AR

Sopimm =13 3 23 1.2 12 112312 3]
Y pptimum = 0-919125 Feflonfunusan C(x)=28.9999 $

fmﬂ%umfaum?ﬁﬁmm@ﬁ%migwmﬂﬁ*uﬂz;ﬂu%’wf?’Tu ansnlaily Psodo
code 1§ feil
Step 1 Initialization
Set NC =0 /* NC : cycle counter */
Set value of a /*a : number of ant of colony */
For every combination (i,)
Set 7;(0) =7, and Az, =0
End
Step 2 Construct feasible solutions
For k=1tom /* m: number of ants or solutions */
Fori=1ton  /*n:number of components */
Choose a supplier of connection with transition probability given

by Eq.(4)

End
Calculate cost C, /* C,: total cost for each ant */
Calculate yield Y, /*Y,: total yield for each ant */

End

Update the best solution Y*

Step 3 Neighborhood search
Step 3.1 Improving solution
Step 3.2 Neighborhood search

Step 4-7 Global updating rule
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For every combination (i,j)
For k=1tom
Find Az'i]]‘. according to Eq.(2.1)
End
Update Ar; according to Eq.(2.2)
End
Update the trail values according to Eq.(2.2)
Update the transition probability according to Eq.(2.1)
Step 8 Next search
If f (St pest (NC) < f(S; 4o (NC —1)) Then
Spest (INC) =8 ot (NC)

Else
NL = NL+1
If NL>NL,,, Then
Re-initialization
End
End
Set NC = NC+1

For every combination (i,j)

End
Step 9 Termination
If (NC <NC__)
Then
Goto step 2
Else

Print the best feasible solution

Stop
End

End
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7.2 TUUAATNISINLADS

o a 6 O o aal o 2 a 1 = v aal oI/ A
NMINIUBANIINH AR FAMILAB N Al FuLleasdneBeAnan iUt aun ufe
AuUAFIluNIImMAgeY (Seed) 30 a1 A1 lWNNINYAAWIN (Terminate Time) 45 3W1¥

a=0.1 f=08uaz p=0.01

=® 1 o 1 a 6 1 dl b o 1
ANNITANEINLFIINIIAIUUAAINIINARTHN9 N FTUNTAUNI AT DL LDIUA
azilyun arfuansreiullauiunanatiads wu aunnaeeiloyuivize Search  Space

[ I r-‘ll o 1 1 o Y o aK [~1 %
annn3denlezasd Reuly AundsresAmunzan wazanduteuaesdanesnu usu
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AU N1INUUANITI R IR fA NS LLAa A anesiNTaLAaz LAz AaNaI NN A9NANT

1 [ Aé = Yo Lﬂl v 1 v 1 1 o %
upnFeiwll smm@%mﬂﬂhmwmmmﬁummmmmﬂmmqLmumluﬂﬁymuuq
ANNNNTNTUUAAINITIRIADTAINEND LAANHANITUI AN ZEN TN ATNNT AL

uuLgaNaLFulgafiAnslszime 29, 308 31$ AMN3eR 7.1 wazNING 7.1

P
F13NN 7.1

LAAINANTIMIATMNNzAN IaeR Bl sal FullgsnAnaussinne 295 308 31$

Budget($) Algorithm Max Yield Average Yield Min Yield Standard Deviation CPU time(S) | % get optimal
31 TACO 0.9712223 0.9712223 0.9712223 0.0000000 8.68 100.00
30 TACO 0.9570433 0.9570433 0.9570433 0.0000000 10.24 100.00
29 IACO 0.9260068 0.9260068 0.9260068 0.0000000 11.97 100.00

nanuanIANN U USIZUIINVITUIUSaL TUAIS A ALy
AdnsINanAnIBlvunulsuilse
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ANAAINNANAGN
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